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3. ZENE P 22X 2 = HIOIE 2=

A N S SN
& A ANEG F NG FHID T

RETET for | In notebook.todm{range(25)): # {
ul AT u} Okg)= AN u Al . Fa8 Ny am T ’ ) i )
HAT Ol TV sEe s OlAHIFR Oldk Xk G o theme_url = “https://2bob.co krirecipe.phptld=1Ist4fKevl |st=kfKeyYalua=haTheme={}"

= theme_url = thema_or | format (ie1]

for lead page_num in nocteoaok. tgdminext_page_non_|ist):

gy | . - P — T R JET
L= L".-_".':':";" = :'.:!".' facgy i il == ays - 1 =00

¥ | IO T e A & ) url = treme_url + "SOederGond) b ot=sorderty=ipace={
¢ RS el Al s 5T L= Era=r url = url foomatflead_page_n.nm)

# ex] PO HR A I 4

. next_pade_nun_Jlist = [
T k- :D e - [ ] page = requests.ostiurl, hescars=reade )

while{True): #F O & s m S TES HE

2 =4 WReEZ o L=l F)) FITET] ey s 2] Ehp (1L P e goup = Baaut |folSouplrags. text, “hin | oarssr)
url = thems_url + “S0rderConditon=%0rderfy=4|
url = url.formatinext_page_num_|ist[k]]
page = requasts get(url, headsrs=headar]
og 4 [ ESE AIHHE Fha s R o[ = Hojz CpEE FALEE # ®WE FLTSD BT w! AF25

soup = Beautiful Soup{page.text, "htnl parser") paze st =[]
page_ | st apoendiurl ]
- [ n _n TIgroi =0 - )
'f'°1”Evf[r“("U?q ! alt,,?tj ,ji:iﬂjll_ HGQF IRisoup tinal'p", “malrg_wun®) 1= Nonel:
A WAHGWHAL 22 HFELHEESS" )Y HE IFisoLp. 4 ingl'p", "radina_run') & 1= Mone)
next_Fage = soup Findf"img", alt="0 % 2+= pege | st ampendiscup. bingd" o tpagina_nun i al"ret " 1
oloe: next_papes = soun. Fird("p", “pegorg_nom) . rest_siblings
break # A& os WEN IS ?'*’U e for page in nest_ragsss :
iflnest_page_num_list[k] < int{next_Page|"hrs cage_ | =t sppecd {pege] et )
([ Q st append(int{nex:_Pa "F . .
next_page_num_| |s pend{int {next_Page( for pags Imonoiebock, adntpage_| st
k =k + 1 ) 11 ipace url:
oriat(next Pagel el "] split{ =" -1}; url = ags
alse:
ur | = bazgsd + pege

oFEae) 7IEtER

break
pege = regoests gstior, hesders=heator )
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o/ span» =

P ca href="javascript:weit_cpen();" class="fr"».</a>

rrafter

CIOIEl 3 =2

for i In rotspoc. taeniar _1ist]
# R A T
url = urllib.parse.url jainfhass, 1]

hemder = {"lsar—faert" !
pane = roquests.getiur,

R N REY
Pzaders=header]

<fdivs
¥idiv class="text_box™»
¢h3 class="s_title™»& 3 & </h3»
p class="mate_list">®0|(28), StE9{1/20 =158g), A
SHobA (200 -g0gh</pr -- 58
< fdivs
¥ediv class="text_box™>»
¢h3 class="s_title">2FH < h3»
¢p class="mate_list">2:=(8.3)</p>
£fdive

¥Yeodiv class="tip">»

WF (2E =40g),

<img 1-r'r_="_-"=~-;i|1."miJ';-;i|1_.=ir'gj.r_\_“_n|.=iga'--'i:_url tip_typel.jpg"” alt="tip"»

e .
<fdivs
<l-- 202 R START
<div class="tip™:
<fdivs
Z 0% 2] END-->
£fdive
<fddve
stafter

<fdivs
«l-- ZDF A START
<div class="def_location clr":

<fdive
Z0FA 2 END -->

Fodiv class="rec_content™ ».< fdivs
P odiv class="rec_key_wrap”r.< dive
P odiv class="rec_foot_banner”».</dive

cl-- LT | START --»
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# WA SE Fepie BF 40
Ingredientz = re s ':_Dﬁttﬂrn—ﬂﬂitﬂl 1. repl="", ztring=Inaredien:si

#F WA Srin WF
ingredient= = rz.suz(pat tern=patter-?  repl

=trimg= nzredien=]

# THEENA W BF
ingredients = rz.muz(pattern-patter-d repl

strirg= nyrediensl

lLTl'. I:t = ingredisntz. spl it

Ingredieni=_| st 3
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<div class="def_location clr":

ECP v /2] B leo] 202 014 Sl o g </div>

%% 2 END -->
Fodiv class="rec_content™ ».< fdivs
Fodiy
kodiv

<l--

class="rec_key_wrap" ».</div>
class="rec_foot_banner”».< /divs
L 0F(A] START --»

7

07
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e .
</div»
<l-- Zt 09 A START
<div class="tip”
<fdive
Y = L= END-->
< Sdive
= <fdiv:
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«fdivs
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findlpt, Class_ st 1. parent eRt S0l ings 1= Nome):
ziblIngs = soup FIRdLpY, class_="nate_| 15t ] et RSl ol s

for gikling in giblings:
ifitepeisinlingl == bzd elanznt. Tag):

ifl=ibling.p 1= Hone):
ingredlents = bl ing.; . gst_textl]

#F WSS e Begial s Aln

ingredients = rz . sbipzttzrn=pactern’, resl=' , string=irarad eots’
¥ TFFSNA Wi FH
ingredients = rz . sbipzttzrn=pactern?, resl=' , string=irarad ects’
#F EZHNA B X
ingredients = re gbipsttern=patternd, resl=" , string=ingrad ete)
¥ EASE B
tern |ist = ingredient= =zl 180 ']
& Tl mo
for 1 im tems |isk:
& S BT OIS
lor |rarsd el In ngredlen.s_|IsL:
PEES" In Ingred | sl
tep = ingradient splitf '+
ngredient=_list . renoval ingredient)
ngredients_list = ingrediznts_|ist + tzap
Jsor_datal ‘datz’ ] append(L
‘coge o ocrk,
“title" o otitle,
Yigresients” ooingrecients |lst.
urlt el
h
P
P
cnlooent o
#F jgon BE IE
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for | in ransedlenidatal ‘data _]'IZ_

del_ids =[] # ARE WES oot F OE
For & im rangel len(eatal daka T0I irgres ients 10
ngredlen datal ‘datz 1111 Ingredient= ' 1]a]

FE, N DU TEESLS FT AR

& ,:_'—';r" =5 = A
PFLC 2 i ingrediznt) or Cingredient == )1
el i apperd(e

& Timo

else

TECUTIEY Imo Irgrsd et d:

datal "data [L1]] ingredlenis |lc] = (ingredien:.
if{'tip" in irgrad ent):

dztal'data 1[i]]" ingredients 17c] = {ingredien:.
iF{'Tip® in irgradect):

dztal'data 1[i]1]" ingredients 17l = {ingredien:.

= D FAN=

#F 2 Eo =zl o

iF " in i
datal "daza [0

#1E Bite WS

elif ["1" in Ingredizsnt):
dzl_ oz anperdis]

redientz ]ic] = {inzredien:.

I QAR OIS 2 AR

if et in irgrad ekl

datal "dora 1010 ingredientz Jle] = datal data' 1000 ingrad eots Te] rep laca g™, "

#o= oo TD o Deol oronsid TS TR S0
I

po n orgredlent)

‘datal'data 10111 inaredlenis 1le] = {inaredient.splIL("="1[1 1]

o E= | CE IR ESR QHENS S &8 oA S
For i in rongellenddatal cata])):
for ¢ in ranged leogdacal cata JL [ inaredientz"12]
Ingradiznt — catal ‘data’ [[1 ][ Irgredients' [ ]

I In Imgrsdl et ):
lor k In dmgrsd ! sol,spo 0t s
catal data’ 1[I0 inured ents'] acped (k]
del{datal datz 1101 inmredient="1]z])

elif {'F=" in ingredient’:
tor k In Ingredisnt.spi et ="
aatal detat L1, Ingrs =' | acpenik)
delidatal "data 1] Ingredients [le])

elif {'.' in ingredient]
for k in inarsdiznt . =p it ("." 1
datz] data' 117 irarsd erts' ] acpendik?
del{datal 'datz 17i][" ingredient="1]a])
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dzl_Imgrad emt_list = ["|FEF IS, BIIE T CFIRES | R HEFS,
EMIEEE, "EFHINIHESE, "SR, (ST,
= =", 23l =", "HEl =Sk =E.
A, IR IS CESM v,
A=

tar | in range; lenidatal "sata )y
del_ids =[] £ AR WECS oA T
for ¢ in rznoef lenfdazal ‘catz'1[][" ingrediznt=' 170
inaredient = zatal ‘dzta’ [ 1] "ig-ecients’ 1[e]
£ AAS 2 BE AW
PFCimgresient in del_ingredient_|igt):
el _ide. appendied
§ CBRASEFNT WA B NEL FAE AN
I idatal daa J00][ 00 0et ! "L A 03
ITElrgrsd el gt
lor k In rangzie v 1, lenloalal dzla' [[1V][ trarss el (10
del _ide. aprandk]

e | _idx = =at{dal_idx]
e l_ldy = |isiidel_ldx]
e I_lds.sortg]

#OSEE oA e s

ok =10

far id« indel_id«!
Ids — Id< cnl
& st apcendidata] catat [ Inared i zmist ] [ 1]}
de | fdazal cata 100 inmaedicnts 1 id=]]

BN A SIAIED AR

del_receipe_by_ingredient_list = ["S2AT", S0 DaT =S =,
"= EEAE 0 | =22 =2 Ao 2= A,
UERL 0 @ =2 o 22k A A,
"Il IR, LR Y R o
st o T S L [
"BaEhAE A T, GO Ul b e

"HE A R

bzl receze icx list =[]
dzl receze list =[]
far i in rzngedlenidazal‘catz' 100
PfCdakal data [0 kT Ie"] = "SI0 B|HAT)
cel _recepe_ids_| st aspens(i)
for ¢ in ranged eoidatal ‘catz 0] inaredientz"10]
ingredisnt = catal data' [[1][ irarss enes' [ [c]

F SR @2 R HEES SArAruiey it g g
III:I'IZI'.-'.'C [=all nazl_rscelpe_ v Irgrsd eml II:‘-':I-::
cel_reczpe_Ids | sl ampensl )
ik =2
for ids i del_recepe_id<_|ist
id= = idx - cnt
e _recepe_llist apoenddatzl smlat [ 1a=] “Liet
el idasal ‘eatat ]| 1ax]]

ok = et + 1

e o ) I L L S e
rid &N gy S =Y =T =i

for del reze ps in del receps st
orins(ArRE QAT Y, o2l receipe)
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3. TENUE 43

s 4. Ealiist pea hE i

# Eeay

raf e |igt = ["A|TY MHENTHE TR EpE
PAEHHILS, "ot e v .
CEIE I CH|EE, 2 LEIT)
s b o el S T "R
A ME AMBTHEY, "EsRE

for i in ~znazilenidatal 'data' 100
for ¢ in range{len(datal ‘data 10110 irgrediencs' 11]:
rarzdient = datal "datz' JLI 10" inareciznts ']zl

fFor prefiz in prefiz_list
iflprafiz in irgredien:)
¥ EL3 HEeEHE
iblprefle == "S"':
itiingrediont] 2] 1= "S=2" and Ingrecdlent[ 3] 1= "EZ":
'odatal tdatat | ] ingredients ) [e], end=" F ")
sp it forafixg] )

||-|—_--:

ar Nkl
datal *data’ [0 ][ ingredients' | (2] = ingradiant,:
rinL{"EE = Y datal ‘data’ ][ ][ Ingredients 1[c])
# P =, LA F A LI a B 7 A iy e
CIIIfL-r"'flx = "CIEI"):
ifiingr Edl“l‘l[[h ] not in ['=27", "A32", "Ok=", "HAZDI]):
arint RS Y, datal 'data __|][ ingredients ' 1[c], end=" / "]
data[’ Ial& |][ imaredisnts ' 1[z] morzd ent.zplitiorefix)[ ]
o tHEE =, datal tdata [0 ingredients el
A SRS, A B2
i—.‘-||f|:p|-fl}' = "==E|"];
i foings ‘-dl-‘llt[ g] — "I\ =0
aronbf"EFEE Y datal tdata [ 1] ingredients [ [e], emd=" £ M)
:I:nt’-['*l'ur“"'ll[ Imgredieats ' | [a] = ingredient . split (" $=Z 11 ]
arnb"EAEZE " datal tdatac [0 ingredients ] [e])
:rlnrlngr’nml A = "EEE
arint{"eEAE ", datal 'data [0 imaredients ' [le], end=" /"]

S5 AL &0IAF KA

t

ex) Al EEl, a2, QM AE?

n

CIOIE! 21K 2

s -

= A=
ey =

a5 TIE WE M
sub_ingredient_list = [["30}R|MULZE|S), "2HOLEE| I = 2HTLE 2| 5}/ =80}
["SOpAIAETRE |31, "WPFIRIE| 3/ =2 2|5 ],
["SIpR|AHTOF  "ET|0H =D ],
["SIFAIM 0", "3 x;ai:;1-qJ
[“BIAL", Bk A0 B A D A (M S01 8 4 ]

]

sub_ingredients = []
in sub_ingredient_|ist:

for sub_ingredient
sub_ingredients. append{sub_ingredient [0]]

for | in rangedlen(datal 'data'1)):
for ¢ in rangellen{datal "data 10110 insredients' 13):
ingredient = datal 'data'1[11[" inaredients’ 1[c]

ifiingredient in sub_ingredients):
for sub_ingredient in sub_ingredient_|ist:
if{ingredient = sub_ingredient [0]):
ceperate = sub_ingredient [1]
orint("BEAF: ", ingredient, end=" / ")
print("HAZ= ", eng="")
for k in seperate.split("/"):
datal 'data' 1[I ][ ' ingredients']. append(k)
print ik, end=", ")
del (datal 'data’ J[1][ "' Ingredients'][c])

print (")

NIE23}t
ex) =JHRIAIEE > HIOE
EIJRRIMTZE > AT

A=

=Z2|31"],
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XIXI=
(support)

- I:II_|I=E||' 0|.0|E'Ilkll II:|-|=|=|

[ S

- dlAIOIoI A =D L8

L,

=
=

- support(A) = P(A)

support(A) = P(A)

13

Z K} S g . 20 713| = AMEH
o I = sl
(confidence) (lift)
- OIOIEUAI 10| QIBHA 2L - MMEI JAIO| HRIMK| B
=3 =
- dIAIIINI A TH=JF ettt - HIAIIIN 2 RH=JF [i= I
= [[H B A=t ZetE 2= StH=S [[Hl, SAIN 223U =

confidence(A->B)
= P(A, B) / P(A)

[[HO] HI=

lift(A->B)
= P(A, B) / P(A)*P(B)
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Apdp HELFL == X7 25 =
0 True False True True False True !temsets = apriori(sample_df, min_support=0.5, use_colnames=True)
1 True False True True False False e
2 True False True False False False support  itemsets
3 False True True False False False % 0 0750 (At
4 True False False True True True 1 0625 (A=)
5 True False False True True False ¢ 0.500 ()
6 True False False False True False 3 0500 (A AT
I False True True False False False

association_rules{itemsets, metric="confidence", min_threshold=0.1)

antecedents consequents antecedent support conseguent support support confidence lift leverage conviction
0 (ArZh (X131 0.75 0.50 0.5 0666667 1.333333 0.125 15
1 e Ed) (AZH 0.50 0.75 0.5 1.000000 1.333333 0.125 inf

14
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code title ingredients url
0 0 OF a2 S HE [BHa Qb= S=FtF JHEF E48r g CHEOHS, EX|SE 0o 85 hitps/2bob.co_krfrecipe php?id=view&eTheme=1...
1 1 =4 ek ac x| [(BEo o2 4, BEE S48 g, B8, WY EtAaA EFR2]  hitps:/f2bob.co krirecipe php?id=view&eTheme=1.._.
2 2 EEXF0 BIUY (BN, S48 2% 0l E 2% BEEEA, &7)8) htips.//2bob.co krirecipe. php?id=viewseTheme=1.
3 3 OrsZ=Torm £24 [(EE=71E, S44d Ohg, 7|18, 28, Ot =S 307, H2  hitps://2bob.co krirecipe php?id=view&eTheme=1...
4 4 MEEEE [ESME, ==71F, {3 S48 g7 0=, Cfd, AT hitps:2bob.co_krirecipe php?id=view&eTheme=1...
1665 2908 STUSHOGEO| [E0E22 OISEN SEEDE HRE7IR S7|LSS ECIER, 7HX| =80, hitps./i2bob.co krirecipe php?id=view&eTheme=2,
1666 2910 LA AiE Aok L2, 8V FIE AR, SHERAESAE, 8]  hitps./i2bob.co kifrecipe php?id=view&eTheme=2. ..
1667 2911 ZHH| O AE [Z2E, HE4, Vo 503, =2 B Znr &oic| C[RIE H8Ef 2IrHi==] hitps:2bob.co krrecipe php?id=view&eTheme=2._
1668 2012 e m 2am e Az 22 on 22 2 SRV EHE MR ZE HAT T 7HH 27
1669 2917 OHEIRS=Io:OHe® (2% A E, £=7t8, &8, Ot v=rrav - inutlHES 25, 23 22 2= g=o= -« )
RES 43, 21BN 22 SHlE H3A5ME 0 AL ik
user = user_ram.sol it(", "1
LIZEr
["&d&", "HEH]
. st =[]
code title :o!}r igitn rangel | en(df _rael]:
iflusar[T] in df_raw.iloclil (" iraredients"] and user[1] in df_rew. ilocli]l [ ingredients"]]:
0 84 E‘JHEEE: [Al= OIIY CEETHE AL a;g =7 user_lst . ampend(tunleldf _raw, [locl]3)
1 122 HesyrEg [oie S22 (LX) 2 E D=y CSX| 07| Q024 . hitps://2bob. co krirecipe php?id=view&eTheme=1...
. 143 =i/ gXSL=EE [EL=, Ot 222715 'gA, O # 'aal7|Cha . hitps:/i2bob.co krirecipe.php?id=view&eTheme=1...
3 377 o= ARLE [E=71& 2A &8 'SSME, DX S "{LZ] hitps//2bob.co.krrecipe. php?id=view&eTheme=3...
4 394 EX)LX| W 7K [Sor 'LAX|" "EZSEX AFEp == THOY “HEF hitps://2bob.co kr/recipe.php?id=view&eTheme=3...
5 4N =ML (=48, T Sy, 80, A=715 Ahe L) "2 | hitps://2bob.co. krirecipe. php?id=view&eTheme=3...
6 411 MEH XM}  [ZR'S7|E HSA EUYD= CHRIONS CHIF, “#Ef] hitps//2bob.co.krirecipe.php?id=view&eTheme=3...
T 412 LNEL0|HIE [HIEA UL SESSEA AR CEDS CDETE https://2bob.co.krirecipe. php?id=view&eTheme=3. .
8 413 SEAXNIE [S4E ULy S2EE2EX E0|E LA AETEE 4 hitps:/2bob.co krirecipe php?id=view&eTheme=3...
9 416 La=2W [ZAF, 'EL BRI B 28, BT AF . hitpsi//2bob.co.krirecipe.php?id=view&eTheme=3...
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3. ZEHE P 21 2 SE 21 OIOIE ZAEl

te = TransactionEncoder()
te_ary = te.fit{data_en).transform{data_en)
df = pd.DataFrame(te_ary, columns=te.columns_)

df
| i = =1 " | | 3
we pe I7 IE IV AT IS N 4y omg . yx UIL BY BM OEIE =1 x2 2 327
0 True False False True False False False False True False _.. False False False False False Falze False False False True
1 True False False True False False False False True False ... False False False False False False False False False True
2 True False False False False False False False True False _.. False False True False False False False False False Tirie
3 False False False False False False False False True False ... False False False False False False False False False Trine
4 False False False True False False False False True False ... False Falzse False False True False False False False False
& False Falze False False True  True False False True False False Falze False False Falze True True Falze Tue True
6 False False False False False False False False True False .. False False False False False False False False False False
7 False Falze Falke Falss True False True False True False ... False Falze False Falze False False False Falze Tue Falze
8 False False False True True  True True False True False ... False False False False False False False False False Falze
9 False True False Faise False False False False True False _.. True False False Failse False False False False False True
10 False False False False False False True False True False _.. False False False False False False False False False False ™
features = df.astype(float)
features
it @ a5 Az= AxF =it =EET ER = ™ H =5 B4 BH EEZTE Y L 51 E=ZA
=2 X OF = = = xl = kS| . T = = = e | A = 7 == =
0 10 00 0.0 1.0 0.0 0.0 0.0 00 10 00 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 1.0
1 1.0 (LR 0.0 1.0 0.0 oo 0.0 0.0 1.0 0.0 . 0.0 0.0 0.0 0.0 0.0 0.0 o 00 0.0 1.0
2 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 . 0.0 0.0 1.0 0.0 0.0 0.0 o0 00 0.0 1.0
3 0o oo 0.0 0.0 0.0 0.0 0.0 00 10 00 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 1.0
4 0.0 (LR oo 1.0 0.0 oo 0.0 0.0 1.0 oo LR 0.0 0.0 0.0 1.0 0.0 o0 0.0 0.0 0.0
[ 0.0 0.0 0.0 0.0 1.0 1.0 0.0 0.0 1.0 0.0 . 0.0 0.0 0.0 0.0 0.0 1.0 1.0 0.0 1.0 1.0
=] oo 0.0 0.0 0.0 0.0 o0 0.0 oo 10 0.0 0.0 0.0 0.0 0.0 0.0 0.0 o0 0.0 0.0 0.0
T 0.0 0.0 oo 0.0 1.0 oo 1.0 0.0 1.0 oo 0.0 0.0 0.0 0.0 0.0 0.0 o0 0.0 1.0 0.0
a8 0.0 0.0 0.0 1.0 1.0 1.0 1.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0
9 0.0 1.0 oo LRV 0.0 oo 0.0 0o 1.0 0.0 10 oo oo 0o 0.0 0.0 o0 00 0.0 1.0
10 0.0 [N oo 0.0 0.0 oo 1.0 0.0 1.0 oo 0.0 0.0 0. 0.0 0.0 0.0 o0 0.0 0.0 o0 _ T
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Apriori Algorithm

def powerset(s): # 202
return chain,fron_iterable{combinat ions(s, r) for r in range{1, len(s)))

def gethboveMinSup(itemSet, itemSetList, minSup, globalltemSetWithSup):
fregltenSet = set()
local ltemSetWithSup = defaultdict(int)

for item in itemSet:
for itemSet in itemSetlist:
if item,issubset(itenSet):
global ItemSetWithSup[iten] += 1
IucaIItEiSEiWithSLp[itam] += 1

for item, supCount in localltemSetWithSup, items():
support = 1 loat (supCount / len(itemSetList))
if (support »= minSup):
freqlitemSet ,add(iten)

return freqltemSet

def getUnion{itemSet, length):
return set([i union{j) for i in itemSet for | in itemSet if len(i union(j)) == length])

def pruningi{candidateSet, prevFregSet, length):
tempCandidateSet = candidateSet copy()
for item in candidateSet :
subsets = combinat ions(item, length)
for subset in subsets:
& if the subsef i3 mof im previous K-frequent gef, fhen remove fhe sef
if(frozenzet (subset) not in prevFreqset):
tempCandidat eSet , removel | tem)
break
return templandidatedet

17
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def associationRule(freqltemSet, recipes, labels, itenSetWithSup, minConf):

rules = (]
lbls = []

sets_compare = [set{re) for re in recipes]

for k, itenSet in freqltemSet,itens():
for item in itemSet:

subsets = powerset (item)

for i in labels:
|bls, append(i )

for s in subsets:|

conf idence = f loat (
itenSetWithSupliten] / itemSetWithSup(f rozenset (s)])

if (conf idence » minConf ):

rules, append( [set (s), set{item difference(s)), confidence])

return rules, Ibls
def getItenSetFronList(itenSetList):
templtemSet = set()

for itemSet in itenSetList:
for item in itenSet:
templtenSet ,add(f rozenset ([ item]))

return templtenSet

Algorithm

def aprioriitenSetList, labels, minSup, minConf):
C1ltenSet = get ItenSetFronlist(itenSetList)
¢ Final resulf globaf frequent |femsef
globalFreqltenSet = dict()

# Sforing glodal ifemsef with suppor! count
global ItenSetYithSup = defaultdict(int)

L11tenSet = getAboveMinSup(

C1ltenSet, itenSetList, minSup, global ItenSetWithSup)
currentLSet = L11temSet
k=2

{ Caloulating frequenf ifem sef
whi le(currentLSet ):
# Storing frequent ifemsef
qlobalFreqltendet [k-1] = currentlSet
§ Self-joining Lk
candidateSet = getUnion(currentLSet, k)
¢ Perform subsef fesiing and remove prumed supersefs

candidateSet = pruning(candidateSet, currentLSet, k-1)
& Scanning ifemdef for counting supporf

currentLSet = get AbovelinSup(
candidateSet, itenSetList, minSup, globalltenSetWithSup)
k +=1

rules, Ibls = associat ionRule(globalfreqltentet, itemSetlist, labels, globalltenSetWithSup, minCont)
drules. sorf{key=lambds x. x[2])

return globalFreqltenSet, rules, Ibls
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fregltemSet, rules,

freqltemSet

11: {frozenset ({1 DFE2"}),
frozenset({" D.:v:)'} ]l
frozenset ({ &
frozenset ({° :’i‘:é" )
frozenset{{ Z x| '})
frozenset ({" )
frozenset({ 25 '}),
frozenset ({ CHIt }),
frozenset ({ ZFI"}),
frozenset({ CtEIOF="}),

-Im

frozenset({ S5} T,

2: {frozenset({ & A[", "CHIt }),
frozenset ({ ' CHI}', "42'}),
frozenset ({° DE’F—Q , AJEH,
frozenset ({ 'CtX0Ot= ", "CHIH }),
frozenset({ DEIF", "LdXA'H.
frozenset({ 'CHIt', "E2IE'}).
frozenset({ (HIt', &€ "'}),
frozenset({ ' CHIt', ZEE=IIF"})

Ibls = apriori{recipes,

Ibls, minSup=0,25, minConf=0,625)

rules
H'om, 23, ('3, o=t
Harl’, 'Ok, "oy, {28
W aal, 'Clots, 28, {0,
{ WDFE, oo, 2= AT
(AR, T, s, CoNoE,
{"D2N%"}, (&R, 'CEoks", "t
{"CHIoks'}, {220z, AR, "o
(250}, (22013, ONOE, g
{"(HI'}, {L%}}'?"; ail, CikE
U 2ENs", ‘G0, 1A, (I
H2zns", gl 10d0E ", o
{"D2NZ", (o't {"dxl", "CHoks
{47l E"Nma F, '[DIJ"T , o
{ El'ﬂma , I T DEUF, A
{47, ooy, {225, CH0ks
{"ozns", 'gdil’, F"Dfa oI
H2zotF, ‘Cl0s’, (I}, {'sAl
W QNS g, oy, G0
i, 'Cioks", "oy, {"2ENF

3:;2.5233

-_— =T =T

_'__'_

-—.—--—.—-1—.—-1_'_-1_"-—" 1—'—r-—'—r-—'—r _'-rw—v-ﬂ—'—rw—'—rw—'—r

, 0.

!

!

s

, 0.
0.
0.
, 1
, 0.
, 0.
, 0.
, 0.
, 0.
[
, 1
, 0.
, 0.

 B66GEGE6E6E666E6] ,

BBEEEEBEEBEEEB]

8751,

5B33333333333334],

3333333333333333],
3?33333333333333],
0

870l

874,
£B33333333333334],
5833333333333334],
3333333333333333] ,
0],

0,

87e],
HB33333333333334] |

= 21} Apriori Algorithm

Ibls

['2D7| ETE,

LEECEN

'£27] ARIEUEY,
A3 A5|2E ",
EAELLYR
OrteE M &2

—T == 1

M 2T
A==,
‘:H:”I”;[- )Hla
‘a‘:'sl'?il'Ehl‘HlJH ' ’

(= = T —

EEEAWN
TETa AN,

'HIIIDH)H
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def find_manv_recipe(ingredients, rules, recipes, Ibls):
user_ing = set(inaredients)
additional_ing = set() o e~
for i inm rules: T 'Ijl' gg':llol IIIHEQI'
i f(user_ing == i[0]): # Brcr S [ SISES WS & JBHEAY S0 "2
for j inilll: # S5} =5 WED SIS0 5= WSS sot i =7 -| )..-| i _— ) = Pk
additional _ing.add(}j) g = o — = T=
additional = list(additional_ing) # =& 0/ F5 935 8285 5F S/AE8
add_recipe = []
for i in additional: # &F 235 &= s SHir2
add_ing = []
add_ing = list{user_ing) # S G5 S5 HES S/ AES(sat O IR HE A 2D
add_ing.appendl i) £ SF.GFAF S/ISE5 5 O/ ~E 95 5 ISEEF FAFA 5 + 3295 5 EMSE A/ =

for j. re in enumerate(recipes): #& A/ & SIS A A E 2=
if (add_ingl0] in re and add_ingll] im re and add_inal2]): # &3 J¥is.

add_recipe.append(j) # £ WE FIE PEE TF FEE IHAIE ﬁf[ox_ljl_ OlEFlE)- xHE
T I. +

add_recipe = set(add_recipe) # HA/HE SECZ HNEBFH ZE= G4H = _k'l =

recipe_name = [] & A/ T IEE S5 A E I_IJ.I;I.Q I E]j} = jl_l.

for i in add_recipe: # FA/E SIS 2= E."AIEIE ='=E=|
recipe_name.append(Ibls[1]) # SAEN (YA} T FROIEE) SIEVAI 5047 FLOISES G = =

return recipe_name

print{ " Try to find recipe using inaredients: 10} and {1} . format(user[0], user[1]))
found_recipe = find_manv_recipe(user, rules, recipes, |bls)
print{ Found recipe: ', found_recipe)

Try to find recipe usi

ing ingredients: &2 %| and CH It
Found recipe: [EDD2 ST, "HSESTEL, EN2| LAXNSUEL, 22 LdXFS, SHRANLAXRH ., UBSFHEZ", "MFZAHI]
AE, ZTIEES0IEZ2T, SELAXIFH, ZTIELTOH, HEAUAXIFOH, =552 XIEIH . CHIXRIFE2H S, CSH2ks=Eol ., TS
Hl ", E% AMALE=XE T, E2OrHI- T, x| AmTHeEHE, xR =24, HIRLAEZE ]

19
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